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Q1. Solve by  Laplace  Transform  method: Y"+2y" -y ~2y = 0given

(8] |co2016 13
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02. Find L[Zsmtsm 51}
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Q3. Express f (t)z 1, 7 <t <27 in terms of unit step function and find its Laplace ;
sing, 1>27 ' [71 |co2016 L3

Transform.
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Q4. If a periodic function of period 2a is defined by f (t): Ya=t if a<red then
a-t if a<t<2a
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show that L{f(t)} = —t—tanh(%) : 5
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Q5. Find the Laplace Transform ofze ™ sin 3t . (7] ( 0216 13

Q6. Find L“{—&}.
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Q8. Find L™ {]og (iz - 1) +tan™ (ij} . [7] \%(f{'}}(;s 6 13
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2. It P = 2 ant 3inst

= 2.L [ cos (-ut) — cos (68) ]
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